
Getac_BC-03_Gain_FS_716MHz_Cont15_Aux (With Antenna) 
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Getac_BC-03_Gain_FS_720MHz_Cont15_Aux (With Antenna) 
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Getac_BC-03_Gain_FS_725MHz_Cont15_Aux (With Antenna) 
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Getac_BC-03_Gain_FS_734MHz_Cont15_Aux (With Antenna) 
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Getac_BC-03_Gain_FS_740MHz_Cont15_Aux (With Antenna) 
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Getac_BC-03_Gain_FS_746MHz_Cont15_Aux (With Antenna) 
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Getac_BC-03_Gain_FS_751MHz_Cont15_Aux (With Antenna) 
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Getac_BC-03_Gain_FS_756MHz_Cont15_Aux (With Antenna) 
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Getac_BC-03_Gain_FS_777MHz_Cont15_Aux (With Antenna) 
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Getac_BC-03_Gain_FS_782MHz_Cont15_Aux (With Antenna) 
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Getac_BC-03_Gain_FS_787MHz_Cont15_Aux (With Antenna) 
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Getac_BC-03_Gain_FS_824MHz_Cont15_Aux (With Antenna) 
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Getac_BC-03_Gain_FS_832MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-22

-2

-18

-14

-10

-6

X

ZY

Azimuth = 180.0

Elevation = -90.0

Roll = -90.0

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_836MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

X

ZY

Azimuth = 180.0

Elevation = -90.0

Roll = -90.0

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_847MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-22

0

-18

-14

-10

-6

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-22

0

-18

-14

-10

-6

X

ZY

Azimuth = 180.0

Elevation = -90.0

Roll = -90.0

R
e

s
p

o
n

s
e

  
(d

B
)

-22

0

-18

-14

-10

-6

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_849MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-22

0

-18

-14

-10

-6

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-22

0

-18

-14

-10

-6

X

ZY

Azimuth = 180.0

Elevation = -90.0

Roll = -90.0

R
e

s
p

o
n

s
e

  
(d

B
)

-22

0

-18

-14

-10

-6

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_862MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-22

0

-18

-14

-10

-6

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-22

0

-18

-14

-10

-6

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-22

0

-18

-14

-10

-6

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_869MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-22

0

-18

-14

-10

-6

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-22

0

-18

-14

-10

-6

X

ZY

Azimuth = 180.0

Elevation = -90.0

Roll = -90.0

R
e

s
p

o
n

s
e

  
(d

B
)

-22

0

-18

-14

-10

-6

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_880MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_894MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

X

ZY

Azimuth = 180.0

Elevation = -90.0

Roll = -90.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_900MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-18

-2

-16

-14

-12

-10

-8

-6

-4

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

-2

-16

-14

-12

-10

-8

-6

-4
X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

-2

-16

-14

-12

-10

-8

-6

-4

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_915MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-18

-2

-16

-14

-12

-10

-8

-6

-4

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

-2

-16

-14

-12

-10

-8

-6

-4
X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

-2

-16

-14

-12

-10

-8

-6

-4

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_925MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-16

-2

-14

-12

-10

-8

-6

-4

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-16

-2

-14

-12

-10

-8

-6

-4
X

ZY

Azimuth = 180.0

Elevation = -90.0

Roll = -90.0

R
e

s
p

o
n

s
e

  
(d

B
)

-16

-2

-14

-12

-10

-8

-6

-4

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_940MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-16

-2

-14

-12

-10

-8

-6

-4

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

-2

-16

-14

-12

-10

-8

-6

-4

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0

R
e

s
p

o
n

s
e

  
(d

B
)

-16

-2

-14

-12

-10

-8

-6

-4
X

ZY

Azimuth = 180.0

Elevation = -90.0

Roll = -90.0



Getac_BC-03_Gain_FS_960MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-18

-4

-16

-14

-12

-10

-8

-6

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

-4

-16

-14

-12

-10

-8

-6
X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

-4

-16

-14

-12

-10

-8

-6

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_1710MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-25

0

-20

-15

-10

-5

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-25

0

-20

-15

-10

-5

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-25

0

-20

-15

-10

-5

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_1732MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-25

0

-20

-15

-10

-5

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-25

0

-20

-15

-10

-5

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-25

0

-20

-15

-10

-5

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_1750MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_1755MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_1785MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_1805MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

0

-14

-10

-6

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_1840MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0



Getac_BC-03_Gain_FS_1850MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-20

0

-16

-12

-8

-4

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_1880MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-18

2

-14

-10

-6

-2

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

2

-14

-10

-6

-2

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-18

2

-14

-10

-6

-2

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_1910MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-16

2

-12

-8

-4

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-16

2

-12

-8

-4

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-16

2

-12

-8

-4

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_1920MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-16

2

-12

-8

-4

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-16

2

-12

-8

-4

X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-16

2

-12

-8

-4

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0



Getac_BC-03_Gain_FS_1930MHz_Cont15_Aux (With Antenna) 

 

 

 

R
e

s
p

o
n

s
e

  
(d

B
)

-14

2

-12

-10

-8

-6

-4

-2

0

X

Y

Z

Azimuth = 0.0

Elevation = 0.0

Roll = 0.0

R
e

s
p

o
n

s
e

  
(d

B
)

-14

2

-12

-10

-8

-6

-4

-2

0
X

ZY

Azimuth = 90.0

Elevation = -90.0

Roll = 180.0

R
e

s
p

o
n

s
e

  
(d

B
)

-14

2

-12

-10

-8

-6

-4

-2

0

Y

Z

X

Azimuth = 90.0

Elevation = 0.0

Roll = -90.0


